€ 1. ZIEXDEE

ROA=FHIBE L.

a) 6x — (32— (~20% + (4x% — 6) - 3) — 5x)

b) 9x2 —10x —4 — (4x —3)(2x% + 5x — 1)
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A=x2-3B=1-2x2,C=x3—x+10DEE, ROXAEFTET L.

a) A—-B-C =

b) C — (B +34) =

¢) A—(B—(C—A4)) =

ROERDAZFHEE L.

a) —a?x (=b)® =
¢) (N =x*)(=y)* =
e) (=3a?b)3 x (—2ab3)? =

g) Bx—4H(x—-1)=

i) (a® +ab + b?)(a® — ab + b?)

b) ax (a?)? x (a®)? =
d) ab3(a* —5b%) =
f) (Bx +4y)? =

h) (5x + y)(x + 5y) =

i) (x% +3xy —y?)(2x — 5y)



FHIES K%

k) (a+b+c)a®?+b*>+c?>—bc—ca—ab) =

ROBRODERAZMBACT L. (EVhAEDERBLTENE—HIBZEETE. ]

a) (a+b)(@a?*—ab +b?) =a®+ b3 b) (a —b)(a® +ab + b?) =a® - b3

¢) (x+y)*—(x—y)*=4xy

RDBER DRz RBEDHEE K.

a) 3ab —6ac = b) 2a?b —ab® =

c) x2—x = d) @a+b)x—(a+>b)y=
e) x2+x—6= f) x2—7x+10=

g) 3x?—18x +27 = h) x2 —1lxy +24y2 =
i) 25x%2 —4 = j) x34+8=

k) x*+x = 1) 3x2—-5x -2 =

[E=TH<]



(6] rROBEATO, BERUARDE. 112l a BERETS.

a) b)

x—2)x3—2x2 +4x — 8 2x% 4 3x + 1) 2x* + 2x3 + x
B = RY = = RY =

c) d)

2x2—x—1)x3 — X x2 4 ax —a?) x3 —2a2x

fx)=x3-3x+1&T5.

a) f(x) & x —2TCEI>1cEEDRYAKRDK. x—2)x3 —3x+1

b) f(2) DEZSTEL. a) DIBRELEE K.

RSDFERAEFIBLT, f(x) =x3—x2—2x ZRORTE > t-EEDRUAERD L.
a) x—1 b) x -3

c) x+1 d) x+2



O] a) x—1, x=2, x+1, x4+20D>5x> -3x2+4DEKB>TLBEDENVA.

b) x3 —3x2 4+ 4 ZEENRE L.

EHEBAAOT x3 —4x2 + x + 6 *EAYDRE &£.
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DEDIE, BREDFIHDDRLIVERODE X EORNDFICTBHENTES.
RON%, BREDFHDBLUERODEEDHNDEICE L.
5x + 4

3) x—2

202 —x+3

b)
2x +1
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